
Defender HD Front Bumper, Can-Am® Commander
Instructions

hmfracing.com/equipment/can-am-commander/defender-hd-front-bumper-can-am-
commander/installation

Installation
1. Disconnect the negative battery cable from the battery.

2. Remove the original front bumper (and winch if so equipped)

3. Install the IQ front bumper using the supplied hardware.

4. Mount the winch to the winch mounting plate. 

5. Connect the power, ground, and winch control wires.

6. Install the IQ skid plate using the supplied hardware.  If you are installing a winch
fairlead, it will be installed at the same time as the skid plate.

7. Connect the negative battery cable  to the negative battery post. 

Discussion

Hardware

 (4) Bolt - Buttonhead - M8-1.25 X 20

1/2

https://www.hmfracing.com/equipment/can-am-commander/defender-hd-front-bumper-can-am-commander/installation


 (4) Bolt - Buttonhead - M8-1.25 X 20

 (2) Bolt - Hex - M8-1.25 X 20

 (2) Bolt - Hex - M8-1.25 X 55

 (6) Nut - Nylock - M8-1.25

 (1) Skid Plate, Can-Am  Commander

 (12) Washer - Flat - 1/4"

 (2) Washer - Flat - 3/8"

* Click thumbnails to enlarge

© Copyright 2020, HMF Engineering  •  5111 West 164th Street  •  Brookpark, Ohio 44142

terms privacy 

®

2/2

https://www.hmfracing.com/terms
https://www.hmfracing.com/privacy
http://robot-ninja.net/?referer=hmf

	Defender HD Front Bumper, Can-Am® Commander Instructions
	Installation
	Discussion
	Hardware


